Efficiency vs Dxy(PV)
0.8,

o o o
[ I N

efficiency vs dxy(PV)

o
w

=}
»
T T T [T [T [T [ TTTT T

0.2]

L}

e

$25-20-15-10 -5 0 5 10 15 20 25
TP dxy(PV) (cm

— T o, __Global_mKkFitbase__RECO
—— DQM_V0001~R000000001"_Global__mkFitOPX__RECO
—— DQM_V0001_R000000001__Global _mkFitOPY_RECO
— —— DQM_V0001_R000000001__Global_mkFitOPZ__RECO
[ Efficienc] —— DM V0001 _R000000001 _Global _mKFitOPT _RECO

o
o1

I
~

Ratio

i

0.2 0 0.20. 1

TP dxy(PV) '(cm)

e
AR
0957-0.8-0.6-0.4~ 4 0.6 0.8

Efficiency vs Dz(PV)
0.8,

0.7

0.6]

0.5

efficiency vs dz(PV)

0.4

0.3]

=—ro—
e

TRt

Efficiency vs Dz(PV)
0.8,

0.7

0.6]

0.5]

efficiency vs dz(PV)

0.4]

0.3]




	Contents
	Page 1


